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(PART – III) 
 

140/540: FINANCIAL ACCOUNTING 
(New Regulations) 

[Common with B.Com. IB (NR), B.Com. A&F (NR), B.Com. BS (NR),  
B.Com. MM (NR), B.Com. CA (NR)] 

 
Time: Three hours                                    Maximum: 100 marks 

                  Answer any FIVE questions.  (5   20 = 100) 
 

1.  Describe the different methods of recording transactions relating to joint 
venture. 

2.  Explain the self-balancing ledger system. What are its advantages? 

3.  What is Account current? Explain the various methods of preparing account 

current. 

4.  From the following Trial Balance prepare final accounts for the year ended 31st 
December 2005: 

 Debit 
Rs. 

Credit 
Rs. 

Capital and drawings 1,700 20,000 
Purchase and sales 2,000 4,200 
Debtors and creditors 3,600 2,600 

Bills Payable -- 2,350 
Plant & Machinery 12,000 -- 
Horses and Carts 2,600 -- 
Wages 800  
Cash at bank 2,600  

Salaries 800  
Repairs 190  
Stock (Opening) 1,600  
Rent 450  

Manufacturing expenses 150  
Bad debts 500  
Carriage 160  

 29,150 29,150 
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Adjustments: 
i) Closing stock Rs. 1600. 
ii) Depreciation – plant and machinery 10%, Horses and Carts 15%. 

iii) Allow Interest on capital at 5% per annum. 
iv) Rs. 150 is due for wages. 
v) Paid rent Rs. 50 in advance. 

5.  Ramu owned to Krishna Rs. 12000 on 1.1.2009 on the same date Krishna drew 

upon Ramu a bill for the amount at 2 months and Ramu returned the bill duly 
accepted. Krishna got the bill discounted at his bank at 6% p.a. Before the bill 
was due for payments Ramu told Krishna that he ws not able to pay the full 
amount and requested Krishna to accept Rs. 4500 immediately and draw upon 
him another bill for the remaining amount for two months together with 

interest at 8% p.a. Krishna agreed. The second bill was duly met. Give journal 
entries in the books of Ramu and Krishna. 

6.  Prepare a Bank Reconciliation Statement from the following data as on 
30.11.2007. 

(i) Balance as per pass book on 30.11.07 overdrawn Rs. 9,204. 

(ii) Cheque drawn on 30.11.07 but not cleared till December, 2007 Rs. 3225, 
Rs. 745 and Rs. 926. 

(iii) Bank overdraft interest charged on 28.11.07 not entered in cash book  
Rs. 1610. 

(iv) Cheque received on 29.11.07 entered in cash book but not deposited in 
bank till 3rd December 2007 Rs. 11,322 and Rs. 1,730. 

(v) Cheque received amounting to Rs. 35 entered in cash book twice. 
(vi) Bill receivable was sent to bank for collection on 28.11.07 and entered in 

the cash book but the proceeds were not credited in bank pass book till 

3rd December 2007 Rs. 2,980. 
(vii) A periodic payment by bank of Rs. 80 understanding instructions not 

entered in cash book. 
(viii) Cheque deposited on 30th November 2007, dishonoured but the entry 

thereof was not made in the cash book Rs. 1,890. 

7.  Mr. Rajesh purchased a plant on 1.4.2000 for Rs. 180,000 and erection 
charges Rs. 20,000 on 1.1.2001. He purchased another plant for Rs. 100,000. 
On 1.7.2002, he purchased another plant for Rs. 50,000. He closes his account 
on 31st December. He allowed 20% depreciation on straight line method. 

Prepare necessary ledger account at to 31.12.2004. 

8.  Rama purchased business on 1.1.09 with a capital of Rs. 25,000. He 
immediately bought furniture for Rs. 4,000. During the year he borrowed  
Rs. 5,000 from his wife and introduced a further capital of Rs. 3,000. He has 
withdrawn Rs. 600 at the end of each month for family expenses. From the 

following particulars obtained from his books, you are required to prepare 
Trading and P & L A/c and Balance Sheet as on 31.12.2009: 

 Rs. 
Sales (including cash sales of Rs. 30,000) 100,000 

Purchases (including cash purchases of Rs. 10,000) 75000 
Carriage 700 
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 Rs. 

Wages 300 

Discount allowed 800 
Salaries 6200 
Bad debts 1500 
Trade expenses 1200 

Advertisement 2200 
         Rama has used good worth Rs. 1300 for private purposes and paid  
Rs. 500 to his son which is not recorded anywhere. On 31.12.09 his debtors 
were worth Rs. 21,000, creditors Rs. 15,000 and stock Rs. 10,000. Furniture to 
be depreciated at 10% p.a. 

9.  From the following prepare an account current by Aravindh to Manogar 
charging interest at 6% p.a. for six months ending 30.6.2010: 

2010  Rs. 
Jan. 1 Balance due from Manogar 1,200 

Jan. 10 Sold goods to Manogar 1,040 

Jan. 17 Manaogar returned goods 250 
Feb. 10 Manogar paid by cheque 800 
Feb. 14 Manogar accepted Aravind’s draft for one month 600 
Apr. 29 Gold sold to Manogar 1,230 

May 15 Received cash from Manogar 1,400 
June 15 Manogar accepted Aravinds bill for 3 months 1,000 

. 

10.  The following is the Receipt and payments statement of the Chennai Sports 
Club for the year ended 31st December 2007: 

 Rs.  Rs. 

To Balance (1.1.07) 2400 By Salary   5700 
To Entrance Fees   500 By Wages of Groundsmen 2400 

To Subscriptions 8700 By Rent 150 
To Proceeds of Tournament 1500 By Printing and Postage 200 
To Interest on Investment 500 By Repairs 175 
      By  Balance (31.12.07) 4975 

                               13,600  13,600 

Other Informations: 

        Subscription includes outstanding subscriptions of 2006 Rs. 500 collected 
in the current year. Wages of groundmen includes Rs. 150 applicable to the 

previous year other ledger balance on 1.1.07 were  
 Rs. 

Capital Fund 49,000 
Club premises 30,000 

Investments 10,000 
Furniture 6,250 

        Entrance fees are to be capitalised. Salaries outstanding on 31.12.07 were 
Rs. 200. Interest on investments accounted but not received as on 31.12.07 
was Rs. 120. Depreciate furniture by 10%. 
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         From the above particulars, prepare the Income and Expenditure Account 
for the period and Balance Sheet as at 31.12.2007. 

 

jkpHhf;fk; 

                        vitnaDk; Ie;J tpdhf;fSf;F tpilaspf;ft[k;.  (5   20 = 100) 

1.  ,iztpid eltof;iffisg; gjpt[ bra;a[k; eilKiwfis tpsf;Ff. 

2.  jhnd rhpfl;Lk; ngul;L eilKiwapid tpsf;Ff. mjd; ed;ik jPikfs; 
ahit? 

3.  eilKiwf; fzf;F vd;why; vd;d? mjid jahhpf;Fk; gy;ntW Kiwfis 
tpsf;Ff. 

4.  fPH;f;fhQk; ,Ug;g[r; nrhjidg; gl;oaypy; ,Ue;J 31.12.2005 cld; 
Kotila[k; Mz;ow;fhd Kothd fzf;Ffis jahhpf;f: 

 gw;W 

Rs. 

tut[ 
Rs. 

_jydk; kw;Wk; vLg;g[fs; 1,700 20,000 

bfhs;Kjy; kw;Wk; tpw;gid 2,000 4,200 

fldhspfs; kw;Wk fldPe;njhh; 3,600 2,600 

brYj;Jjw;Fhpa khw;Wr; rPl;L -- 2,350 

,ae;jpuk; kw;Wk; bghwptif 12,000 -- 

FjpiufSk; tz;ofSk; 2,600 -- 

Typ 800  

t';fpapUg;g[ 2,600  

rk;gsk; 800  

rPuikg;g[r; bryt[fs; 190  

Jtf;f ruf;fpUg;g[ 1,600  

thlif 450  

cw;gj;jp bryt[fs; 150  

thuhf;fld; 500  

J]f;F Typ 160  

 29,150 29,150 

rhpfl;Ljy;fs;: 
(m)   ,Wjpr; ruf;fpUg;g[ %. 1600. 
(M) nja;khdk; - ,ae;jpuk; kw;Wk; bghwptif 10 rjtpfpjk;/ Fjpiufs; kw;Wk;  
         tz;ofs; - 15 rjtpfpjk;. 
(,)   _yjdj;jpd; kPJ Mz;Lf;F 5 rjtpfpj tl;o mDkjpf;ft[k;. 
(<)    bfhLglh Typ %. 150. 
(c)   Kd;Tl;ona bfhLj;j thlif %. 50. 
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5.  1.1.2009 md;W uhK vd;gth; fpU\;zh vd;gtUf;F juntz;oaJ %. 12/000/ 

mnj njjpapy; fpU\;zh uhK kPJ mj;bjhiff;F 2 khj jtizapy; xU khw;Wr; 
rPl;il vGjpdhh;. mij uhK Vw;Wf; bfhz;L jpUg;gp mDg;gpdhh;. mk;khw;Wr; 
rPl;il fpU\;zh t';fpapy; Mz;Lf;F 6% vd js;Sgo bra;jhh;. mk;khw;Wr; 
rPl;ow;fhd fhyk; Kotjw;Fs; uhK fpU\;zhtplk; jw;nghJ jd;dhy; KGj; 
bjhifa[k; juKoahJ vd;Wk; jw;nghJ %. 4500 jUtJ vd;Wk; kPjKs;s 
bjhifia Mz;ow;F 8% tl;oa[ld; nrh;j;J 2 khj khw;Wr; rPl;blhd;iw 
Vw;Wf; bfhs;tjhft[k; Twpdhh;. mij fpU\;zh Vw;Wf; bfhz;lhh;. ,e;j 
,uz;lhtJ khw;Wr; rPl;L jtizf; fhyj;jpy; Kiwahf brYj;jg;gl;lJ. 
uhK kw;Wk; fpU\;zhtpd; VLfspy; Fwpg;ngl;L gjpt[fis jUf. 

6.  gpd;tUk; tptu';fspypUe;J 30.11.07-y; cs;sgo t';fpf; fzf;F rhpfl;Lk; gl;oay; 
jahhpf;ft[k;: 

(m) 30.11.07 t';fp brYj;J g[j;jfj;jpy; cs;sgo t';fp mjpfg; gw;W %. 9/204. 
(M) 30.11.07 tH';fg;gl;l fhnrhiy ork;gh;/ 07 tiu t';fpapy; khw;wg;glhjJ  

%. 3225/ %. 745 kw;Wk; %. 926. 
(,) 28.11.07 gw;W itf;fg;gl;l t';fp mjpfg; gw;wpd; kPjhd tl;o buhf;f Vl;oy; 

gjpt[ bra;ag;glhjJ %. 1610. 
(<) %. 11/322 %. 1/730 bjhiffSf;fhd fhnrhiyfs;/ 29.11.07 bgwg;gl;L 

buhf;f Vl;oy; gjpt[ bra;ag;gl;Ls;sd. Mdhy; 3.12.07 jhd; mit 
t';fpapy; brYj;jg;gl;ld. 

(c) %. 35f;fhd fhnrhiy ,uz;L Kiw buhf;f Vl;oy; gjpt[ 
bra;ag;gl;Ls;sJ. 

(C) tNYf;fhf 28.11.07 t';fpapy; brYj;jg;gl;l cz;oay; %. 2/980/ 3.12.07 
tiu t';fpapy; gjpt[ bra;ag;gltpy;iy. 

(v) t';fpapduhy; brYj;jg;gl;l %. 80f;fhd xU tHf;fkhd bryt[ bhf;f 
Vl;oy; gjpt[ bra;ag;gltpy;iy. 

(V) 30.11.07 t';fpapy; brYj;jg;gl;l fhnrhiy %. 1/890 t';fpapy; 
kWf;fg;gl;lJ. Mdhy; buhf;f Vl;oy; gjpt[ bra;ag;gltpy;iy. 

 

7.  jpU. ,uhn#\; vd;gth; miwfyd; xd;iw 1.4.2000-y; %. 1/80/000-j;jpw;F 
th';Ffpwhh;. mij epWt[tjw;F %. 20/000-j;ij bryt[ bra;fpwhh;. 1.1.2001 md;W/ 
mth; nkYk; xU miwfyid %. 100/000-f;F th';Ffpwhh;. 1.7.2002 md;W %. 
50/000j;jpw;F miwfyd; xd;iw th';Ffpwhh;. Xt;bthU tUlKk; mth; jdJ 
fzf;if 31/ ork;gh; md;W Kof;fpwhh;. mth; fPH;fz;lthW 20% neh;nfhl;L 
nja;khdj;ijg; gpd;gw;Wfpd;whh;. 31.2.2004 Koa cs;s ngnul;Lf; 
fzf;Ffisj; jahh; bra;f. 
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8.  uhkh jd;Dila tzpfj;ij 1.1.09 md;W %. 25/000 KjYld; bjhl';fpdhh;. 

cldoahf %. 4/000f;F kidj;Jizg; bghUl;fis th';fpdhh; ,t;tUlj;jpy; 
jd; kidtpaplk; %. 5/000 fld; th';fp TLjy; Kjyhf %. 3000-j;ij 
mwpKfg;gLj;Jfpwhh;. jdJ FLk;gr; brytpw;F xt;bthU khj ,Wjpapy;  
%. 600-I vLf;fpd;whh;. mtuJ Vl;oYs;s fPH;fz;l tpgu';fspypUe;J 31.12.09-
f;fhd tpahghu/ yhg el;lf; fzf;F ,Ug;g[ epiyf; Fwpg;g[ jahhpf;ft[k;. 

 %. 
tpw;gid (buhf;f tpw;gid %. 30/000 ml';fpaJ)  100,000 

bfhs;Kjy; (buhf;f bfhs;Kjy; %. 10/000 ml';fpaJ) 75000 

cs;J]f;F Typ 700 

Typ 300 

mspj;j js;Sgo 800 

rk;gsk; 6200 

thuhf;fld; 1500 

tpahghur; bryt[fs; 1200 

tpsk;guk; 2200 

       uhkh jd;Dila brhe;j eyDf;fhf %. 1/300 kjpg;g[s;s bghUl;fisg; 
gad;gLj;Jfpd;whh;. nkYk; jd;Dila kfDf;F %. 500 brYj;Jfpd;whh;. ,it 
v';Fk; gjpatpy;iy 31.12.09mtUila fldhspfs; kjpg;g[ %. 21000. 
fldPe;njhh; %. 15/000 kw;Wk; ruf;fpUg;g[ %. 10/000 kidj; Jizg; 
bghUl;fSf;Fj; nja;khdk; 10% xJf;Ff. 

9.  gpd;tUk; tptu';fspypUe;J mutpe;j; vd;gth; kndhfUf;F mDg;g[k; tifapy; 
30.06.2010k; ehSld; Koa[k; MWkhj fhyj;jpw;F Mz;ow;F 6% tl;o vdf; 
bfhz;L elg;g[ fzf;bfhd;iw jahh; bra;f. 

         2010  %. 
#dthp 1 kndhfhplkpUe;J bgw ntz;oaJ 1,200 

#dthp 10 kndhfUf;F tpw;wJ 1,040 

#dthp 17 kndhfh; jpUg;gp mDg;gpa ruf;F 250 

gpg;uthp 10 kndhfh; fhnrhiy brYj;jpaJ 800 

gpg;uthp 14 mutpe;j; vGjpa xU khjj;jpw;fhd khw;Wr; rPl;il 
kndhfh; Vw;Wf; bfhz;lJ 

 
600 

Vg;uy; 29 kndhfUf;F tpw;wJ 1,230 

nk 15 kndhfhplkpUe;J bgw;w buhf;fk; 1,400 

#&d; 15 mutpe;j; vGjpa 2 khjj;jpw;fhd khw;Wr;rPl;il 
kndhfh; Vw;Wf;bfhz;lJ. 

 

1,000 
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10.  brd;id tpisahl;Lf; fHfj;jpd; bgWjy; kw;Wk; brYj;jy; gl;oay; 

31.12.2007-y; Kotile;j Mz;ow;F gpd; tUkhWs;sJ: 

 %.  %. 

1.1.07-y; ,Ug;g[ fP/bfh 2400 rk;gsk;   5700 

mDkjpf; fl;lzk;   500 Typ (tpisahl;Lj; jply; ngQgth;) 2400 

cWg;gpdh; Mz;L re;jh fl;ldk; 8700 thlif 150 

tpishal;L _yk; tut[ 1500 jghy; bryt[/ mr;rpLjy; 200 

KjyPl;od; kPJ tl;o 500 gGJ ghh;j;jy; 175 

      31.12.07 ,Ug;g[ fP/bfh 4975 

                               13,600  13,600 

kw;w tpgu';fs;: 
      re;jhj; bjhif 2006-k; Mz;L epYit %. 500 ,e;j Mz;oy; 
bgwg;gl;lija[k; cs;slf;fpa[s;sJ. 
      Typ/ brd;w Mz;Lf;fhd %. 50-I cs;slf;fpa[s;sJ. 
      1.01.07-y; kw;w ngnul;Lf; fzf;F ,Ug;g[fs;: 

 %. 
_yjdk; 49,000 

fHf fl;olk; 30,000 

KjyPLfs; 10,000 

kidj; Jizg; bghUl;fs; 6,250 

     mDkjpf; fl;lzk; _yjd tUkhdkhff; bfhs;s ntz;Lk; 31.12.07-y; 
brYj;j ntz;oa rk;gsk; %. 200 31.12.07 tiu <l;lg;gl;l KjyPLfspd; kPjhd 
tl;o %. 120 ,d;Dk; bgw;Wf; bfhs;sg;gltpy;iy. kidJizg; bghUs; kPJ 
10% nja;khdk; fzf;fplt[k;. nkw;fz;l tpgu';fspypUe;J 31.12.07-y; 
Kotile;j Mz;Lf;fhd tUkhdk; kw;Wk; bryt[f; fzf;ifa[k;/ ,Ug;g[ 
epiyf; Fwpg;iga[k; jahhpf;ft[k;. 

%%%%%%% 


